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Facility Association Cat 2 Taxi & Limousines Rate Filing
Undertaking -  # 2

Filed: J\ay . 13 2ot/ Board Secretary:é%’l‘_f—*—

FACILITY FA 2014 Taxi Filing
Association undertaking 11 07 a
page 1 of 3

2014 11 07 a:

Transcript page 5, lines 6 to 11, Mr. Johnson Q.C. “And I'm just wondering, how much impact would
there be if you didn't start in the second half of 2004 and instead you said well, let’s take it from the
first half of 2003? Would you expect there to be a significant impact from there?” Lines 18 to 19

Mr. Johnson Q.C. “Okay. So would it be a big undertaking to determine what sort of impact it would
make?” Undertaking is to provide regression results for BI where the period change is at 2002
H2/2003 H1. Compare regression statistics with the selected trend structure results.

FA Response:

As per requested, we’ve attached the results of regressions where the only change from our selected TPL
frequency and severity trend models are that the second period starts at 2003 H1, rather than 2004 H2.
Bodily Injury (BI)

For both BI frequency and severity, in comparison to our selected models for the “second period”, the
trends were lower (loss cost trend decreased from 4.4% to 0.8%) but the R* and adjusted R” fit measures

also decreased, as summarized and discussed below. As indicated, outlier exclusions would likely
change with the new period selection — with the outlier exclusions updated, the loss cost trend is 3.2%.

BI FREQUENCY

FAITTED MODEL RESULTS
Fraquency
Model R Adj R’ df F Past  Future Model Description
refine 1 645%  52.2% 39 5259  (2.3%) (2.3%)| By reform period {Aug 1,2004),
) no seasonality

freq 07a 61.6%  48.3% 39 4646  (4.2%) (4.2%)| |As per Undertaking 07a (freq) -
only change from filing is that
second period starts at 2003-H1,
not 2004-H2

We did not make any adjustments related to outliers. That is, we did not exclude any data for frequency
(as per our selected frequency model). However, with the changed periods, the data point 2003-H1
would be an outlier we’d test with respect to the second period, and it would be deemed influential and
therefore excluded. The associated statistics are shown below:

FITTED MODEL RESULTS
Frequency
Model R AdjR’ df F Past  Future Model Description
freq 07a (2) 67.1%  55.4% 38 5714  (2.8%) (2.8%)| |As per Undertaking 07a (freq) -

only chg from filing is that 2nd
period starts at 2003-H1, not
2004-H2 AND 1 data exclusion
on freq residuals

file: FA NL Taxi 2014 Hearing - o ,
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BI SEVERITY
FITTED MODEL RESULTS
Severity
Model R adj R df F Past  Future Model Description
refine 2 52.1% 35.0% 38 3.045 6.9% 6.9% All years, excluding 2011-2; 2004
Reform, no seasonality
sev07a 52.3% 35.3% 38 3.069 5.2% 5.2% As per Undertaking 07a (sev) -
only change from filing is that
second period starts at 2003-H1,
not 2004-H2

We did not make any adjustments related to outliers. That is, we excluded 2011-H2 for severity (as per
our selected severity model). However, with the changed periods, the data point 2011-H2 is not as
clearly an outlier as with our selected periods and, while we might still exclude it, it is not as clear cut a
decision, particularly as the fit is better (based on the two R? measures) than both the selected model and
the initial model using the undertaking’s periods. The associated statistics if the 2011-H2 data point was
not excluded are shown below:

FITTED MODEL RESULTS
Severity
Model R Adj R’ _ df F Past Future Model Description
sev07a (2) 53.6%  37.6% 39 3.354 6.2% 6.2% | |As per Undertaking 07a (sev) -
only change from filing is that
second period starts at 2003-H1,
not 2004-H2, AND no data
exclusions
Property Damage (PD)

For PD in comparison to our selected models for the “second period”, the frequency trend was lower,
but the second period p-value was such that we would reject the coefficient (i.e. trend) as being other
than 0.0%. For severity, the trend increased slightly. If the frequency trend was not rejected (as we
would because of the p-value), the loss cost trend decreases from 2.4% to 0.6%, as summarized and
discussed below.

file: FA NL Taxi 2014 Hearing - N )
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1 PD FREQUENCY

FITTED MODEL RESULTS
Frequency
Model [ adj R df F Past  Future Model Description
cs8 D58 k70 n68 K77 K78 D6
refine f2 87.1% 82.4% 38 18.838 0.3% 0.3% | |Trend on All years, excluding
2004-2; 2004 Reform,
N ) seasonality
freq 07a 84.6% 79.1% 38 15.376 (1.6%) (1.6%])| |As per Undertaking 07a (freq) -
only change from filing is that
second period starts at 2003-H1,
2 not 2004-H2
3 We did not make any adjustments related to outliers. That is, we excluded data point 2004-H2 for
4  frequency (as per our selected frequency model). While the R? fit measures are down slightly, the p-
5  value for the second period (8.8%) would move us to reject this model.
6 PDSEVERITY
FITTED MODEL RESULTS
Severity
Model R AdjR® df F Past  Future Model Description
by reform yr 87.0%  82.5% 39  19.355 2.1% 2.1% | |Byreform period (Aug 1, 2004)
sev07a 87.1%  82.7% 39 19.608  22%  2.2% | |Asper Undertaking 07a (sev)-
only change from filing is that
second period starts at 2003-H1,
not 2004-H2

8  We did not make any adjustments related to outliers. That is, we did not exclude any data for severity
9 (as per our selected severity model).
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Facility Association - Trend Analysis - Industry Level Options:| Freq Sev LC
Newfoundland & Labrador - non-Private Passenger actual observations: 0 ‘At Selected Ultimate Levels 1 R s T
Bodily Injury excluded observations: = At Favourable Levels 2 v w x
as at: Dec 31, 2012 # observations used: 40 At Unfavourable Levels 3 Z AA AB
MODEL DESCRIPTION As per Undertaking 07a (freq) - only change from filing is that second period starts at 2003-H1, not 2004-H2
Frequency per: 1,000 Earned Car Years Level Selected: 1 ‘At Selected Ultimate Levels
Trend Type: exponential
X7
Trend Periods based on average accident date where scalar present Frequency Values
p:::‘ E‘:'::"(:];“ Season | AllVears | Scalari  Trend1  Scalarz  Trend2  Scalar3  Trend3  Scalard  Trendd v:::':m RegressFit  Residual s:::‘:]d
[ 1 T 1 (] o 5 [ ] 0 |=use 1" toinclude. 0" if not_
3 1993.25 . - - . = 3 - - 59400  5.6714 0.2686 5.6714
2 1993.75 5 T oEn . T T = . 6.5755 57922 0.7833 5.7922
1 1994.25 . i i 5 : 3 = g 69073 59155 0.9918 5.9155
2 1994.75 - - - - - . - . 63836 6.0414 0.3422 6.0414
1 1995.25 =T = 1 . IE "1 - e B 6.7084 61700 05384 |  6.1700
2 1995.75 . . - . = - 2 . 6.0233 6.3014 (0.278)| 63014
1 1996.25 - - - : . : - - 42929 64356 (2.143)|  6.4356
- 2 199675 0 - - = - = - - | so78s 65726 (1.494)) 65726
1 1997.25 - - - 7 - 5 > = 7.9804 6.7125 1.2679 6.7125
2 1997.75 = - 5 - - - - - 7.5518  6.8554  0.6964 6.8554
1 1998.25 - - - - - - - - 6.6487 7.0013 (0353) 7.0013
2 1998.75 - . . . - < < . 6.3764 71504 0774)  7.1504
1 199925 = - - - = z S - | sarse 73028 {0.827))  7.3026
2 1999.75 - - = - = = = 6.4357 7.4581 (1022) 74581
1 2000.25 - - - ) : = = 8 6.7309 7.6168 (0.886),  7.6168
2 2000.75 - - - . - - N 9.7971 77790  2.0181 77790
3 2 200125 - - [N - = = : - | uges 7.9446 3.8179| 7.9446
2 2001.75 - - - . . . . - 71216 81137 0992)| 81137
1 2002.25 : 5 - - - = - - 8.9091 82865  0.6226|  8.2865
= 12 | 20027 - - BRRER | - Z = e 8.1611 84629  (0302)] B.4629
1 2003.25 100 200325 = - - - L - 11.3335 7.6451 3.6884 7.6451
2 2003.75 100 200375 : - . S = ) 7.2318  7.4848 (0253)|  7.4848
| N ] 1 2004.25 100 200425 - - s ST = 7aeaa 1317 (0.0ss) 7.3277
2 2004.75 100 200475 . . - " s . 66125 7.1740 tose2)|  7.1740
1 2005.25 100 2005.25 - . - 5 £ 6.0036  7.0235 (0530)|  7.0235
= 2 200575 100 200575 s - e - - - | sswm.s 6.8762 (0250)|  6.8762
1 2006.25 100 2006.25 - . 5 E E 60030 67319 0639)| 67319
2 2006.75 100 2006.75 - . - . . 5,6662 6.5907 0924)| 65907
1 2007.25 100 2007.25 E : 3 = TE 5.7501 6.4524 0.702)|  6.4524
2 2007.75 100 2007.75 - ) . 8 E : 67651 63171 0.4480 6.3171
1 2008.25 100 2008.25 - - - z 05936 6.1845
- 2 200875| 100  2008.75 - — | e - 3 (0.275) 6.0548
1 2009.25 100  2009.25 E . 3 - = - 6.0649 59278 01371 59278
2 2000.75 100 2009.75 - 3 = 2 5 - 6.6783 58034 0.8749 5.8034
1 2010.25 100 201025 D = . - - 5.0115 56817  (0.670)]  5.6817
2 2010.75 1.00 - = = : 5.4392 5.5625 0123] 55625
1 2011.25 1.00 | - - = &= % 56519 54458  0.2061 5.4458
rrEr 2 2011.75 100 201175 S 3N @ - e - 5.8266 53315 04951 53315
1 2012.25 100 201225 - - - = i 47648 52197 (04s5) 52197
2 2012.75 100 201275 - - E - - 57188 5.1102 0.6086 | 51102
1 2013.25 100 2013.25 - - = = = 5.0030 5.0030
2 2013.75 100 201375 . - - z - . 4.8980 4.8980
1 2014.25 100 2014.25 - - - -
N 2 2014.75 100 201475 - - B - . - |
1 2015.25 100 201525 5 . E . - .
2 2015.75 100 201575 = - = 2 = 5
1 | 200825 100 2016.25 - - == T 5 z
2 2016.75 100 201675 - . - 2 2 5
- 1 201725 100  2017.25 - - = . oW e =

file: NL. CV.Trend Analysia 01a TPL-BI.2012-12 v01b {underlaking 07 a).dsx

FA Actuarial

printed: 3:17

PM, 11/10/2014



freq 07a

page 2of 2
Facility Association - Trend Analysis - Industry Level Options: Freq Sev LC
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R 5 T
Bodily Injury excluded observations: - At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 40 At Unfavourable Levels 3 Z AA AB
MODEL DESCRIPTION As per Undertaking 07a (freq) - only change from filing is that second period starts at 2003-H1, not 2004-H2
— =
REGRESSION STATISTICS ANOVA
Adjusted S.E.of #of Obs. # of Obs. Significance
Itiple R R2 R2 n luded k df 55 MS F F
0.7847 0.6157 0.4832 0.1472 40 - 1 Regression 10 1.0064 0.1006 4.6458 0.0006
Residual 29 0.6282 0.0217
Runs-Test Result: 1.0966 RESIDUALS RUNS RANDOM Total 39 1.6345
clL 99% Selected Fitted Previous  Selected
Coefficients 5.5 t-Stat p-value Lower Upper Coeff. Annual Selected Annual
1 2
Intercept (82.243)  22.8066 (3.606) 0.0012  (145.106) (19.379) (82.243) 11 selected = fitted
Season . = = 1.0000 2] - = 10
All Years. 0.0421 0.0114 3.6910 0.0009 0.0107 0.0736 0.0421 9 past (a.2%) (3.10%) (a.2%) ‘12H2  => last period in "past”
Scalar 1 169.2214 32,3342 5.2335 0.0000 80,0959 258.3468 1569.2214 8 future (4.2%) (3.10%) (4.2%)
Trend 1 (0.085) 0.0161 (5.237) 0.0000 (0.129) (0.040) fo.08s) 7
Scalar 2 - - - 1.0000 - - - 6
Trend 2 - - b 1.0000 - - 4]
Scalar 3 - - - 1.0000 - - - 4
Trend 3 - - - 1.0000 - - - /3
Scalar 4 - = T 1.0000 = - St 2
Trend 4 = = = 1.0000 = = = 1
Trends are Annual
Actual and Fitted F Actual and Selected Model Frequency
14,0000 14.0000
12.0000 12.0000
10,0000 10.0000
8,0000 8.0000
6.0000 = 6.0000
4.0000 4.0000
2.0000 2.0000
‘93 ‘84 ‘96 '97 '99 ‘00 ‘02 '03 ‘05 '06 ‘08 '09 11 '12 '14 ‘15 ‘17 ‘93 's4 ‘9s ‘97 ‘99 ‘00 '02 ‘03 ‘05 ‘06 ‘OB ‘09 ‘11 '12 4 15 17
HL H2 H1 H2 HI H2 HI HZ H1 H2 H1 H2 Hl H2 H1 H2 HI1 H1 HZ H1 H2Z H1 H2 H1 H2 H1 H2Z Hl H2 H1 HZ HI H2 HL
= From Valuation === Regress Fit == From Valuation —=———Selected Model
Fitted Frequency Residuals Plot
5.0000
4,0000 * =
3.0000
2.0000 *
*
il R P B - ot ot
B L N LN S P R
(1000} R To tat .
{2.000) *
{3.000)
'93 's4 '96 '97 '99 00 ‘02 03 ‘05 06 08 ‘09 1 ‘12
H1 H2 H1 H2 H1I Hz H1I H2 HI H2 H H2 H1I H2
# Residual
Fitted Frequency qq-Plot
4.0000
3.0000 * Y
2.0000
1.0000 **
(1.000} ——’—*—t—
{2.000) *
{3.000)
(2.500) (2.000) (1.500) (1.000) {0.500) - 0.5000 1.0000 1,5000 2.0000 25000
# Standardized Residuals = Line
file: NL CV. Trend Analysis 01a TPL-BI 201212 v01b (undertaking 07 a)xsx FA Actuarial
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Facility Association - Trend Analysis - Industry Level Options] __ Freq Sev I
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R ] T
Bodily Injury excluded observations: 1 At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 39 At Unfavourable Levels 3 z AA AB
MODEL DESCRIPTION As per Undertaking 07a (freq) - only chg from filing is that 2nd period starts at 2003-H1, not 2004-H2 AND 1 data exclusion on freq residuals
Frequency per: 1,000 Earned Car Years Level Selected: 1 ‘AtSelected Ultimate Levels
Trend Type: exponential
bl
Trend Periods based on average accident date where scalar present Frequency Values
P::::;’ &:ﬂ“::[:).?h Season All Years Scalar 1 Trend 1 Scalar2 Trend 2 Scalar 3 Trend 3 Scalar 4 Trend 4 V:mnn RegressFit  Residual s;:::‘:d
0 1 1 1 0 0 0 0 0 0 => use "1" to includy 0" i ne
1 1993.25 - - . - . - . - 5.9400 5.6714 0.2686 56714
2 1993.75 - < AN - . - : - 6.5755 5.7922 0.7833 5.7922
1 1994.25 - . . . - - . 6.9073 5.9155 0.9918 5.9155
. 2 - a = - - - - - 63836 ~0.34 6.0414
1 199525 - - - - . - - - 6.7084 0.53: 6.1700
2 1995.75 - - . - - - - - 6.0233 (0.278)] 63014
1 1996.25 . - E 3 . == - 42929 64 (2.143)|  6.4356
Sea=T 2 1996.75 s ol = - - 5.0785 {1494)| 65726
1 1997.25 - . - - - - 7.9804 1.2679 67125
2 1997.75 s . B z : 3 7.5518 0.6964 6.8554
1 1998.25 - - . B - = D 6.6487 “o3s3)]  7.0013
2 1998.75 - - - . . v 6.3764 0.774)) 71504
1 1999.25 - . . - - . - 6.4756 73026 (0.827) 73026
F] 1999.75 = - = T — = —= 64357  7.4581 (1.022)] 7.4581
1 2000.25 . - . . . 4 = - 6.7309 7.6168 (0.886]]  7.6168
2 200075 - - - - a1 = - 9.7971 7.7790 2.0181 7.77%0
1 2001.25 = s T R G E = - 117625  7.9446 3.8179 7.9446
2 2001.75 - - - . . - . 7.1216 8.1137 (0992)  8.1137
1 2002.25 - __. - - - s - - - 8.9091 8.2865 0.6226 8.2865
R 2 2002.75 . - . - = - E - 81611  8.4629 (0302)) 84629
¥ 1 2003.25 100 2003.25 . . . 5 : 11,3335 6.9886 4.3449 6.9886
2 2003.75 100  2003.75 . » : - . 7.2318 6.8894 0.3424 6.8894
A 1 2004.25 100 200425 - - s - = P 7.2623  6.7916 0.4707 |  6.7916 |
2 2004.75 100  2004.75 . . - s E . 6.6125 6.6952 (0.083)|  6.6952
1 2005.25 100 200525 - - . - - . 6.0936 6.6002 0507))  6.6002
T e 2 200575| 100  2005.75 R P - S - 5 6.6266 6.5065 01201 65065
1 2006.25 100  2006.25 - . : - . 6.0930 6.4142 (0.321))  6.4142
2 2006.75 100 200675 . - - - . 5.6662 6.3231 (0.657)| 63231
1 2007.25 100 2007.25 a 3 - S : i 57501 6.2334 (0.483)| 6.2334
2 2007.75 100 2007.75 . - - - . 6.7651 6.1449 0.6202 6.1449
1 2008.25 100 2008.25 - - : - - - 6.7781 6.0577 0.7204 6.0577
SR T 200875 | 100 200875 B - ] 3 - = G 57793 59717 (0192)| 59717
1 2009.25 100  2009.25 . . E B - E 6.0649 5.8870 0.1779 5.8870
2 2009.75 100 2009.75 . . . . = . 6.6783 5.8034 0.8749 5.8034
1 2010.25 100 201025 - = . : - - | sous 5.7210 {0.710)| 5.7210
2 2010.75 100  2010.75 . . . . . 5.4392 5.6398 (0201)|  5.6398
1 2011.25 100 201125 . - : + . - | 56519 5.5598 0.0921 5.5598
2 | 0107 [kl 201175 (REMmSSR . === - - | 58,66  5.4809 03457 |  5.4809
1 2012.25 100 2012.25 - . . - « . 4.7648 5.4031 lo63g)|  5.4031
2 2012.75 100 2012.75 - - - - - - 5.7188 5.3264 0.3924 5.3264
1 201325 100  2013.25 - - - - - - 5.2508 5.2508
2 2013.75 100 201375 . 5 = - . - 5.1763 5.1763
1 201425 100 2014.25 - s - - - - 5.1028 5.1028
2 | 201475 100 201475 I =3 = = - 50304 ~ s5.0304
1 2015.25 100 201525 - - = a 4.9590 4.9590
2 2015.75 100 201575 - - E = 4.8886 4.8886
N ) 1| o165 100  2016.25 - - . : = T e "B T as192
2 2016.75 100 201675 - . s . 47508
i EY 2017.25 100 2017.25 - T - - - = . 4.6834
filo: ML CV.Trend Analysia 01a TPL-B1.2012-12 v01b (undsriaking 07 a)dax FA Actuarial
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freq 07a (2)
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Facility Association - Trend Analysis - Industry Level Options: Freq Sev 7
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R s T
Bedily Injury excluded observations: 1 At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 39 At Unfavourable Levels 3 z AA AB
MODEL DESCRIPTION As per Undertaking 07a (freq) - only chg from filing is that 2nd period starts at 2003-H1, not 2004-H2 AND 1 data exclusion on freq residuals
REGRESSION STATISTICS ANOVA
Adjusted S.E.of #of Obs. #of Obs. Significance
Multiple R R2 R2 Estimate n Excluded k of SS Ms F F
0.8192 0.6711 0.5537 0.1251 39 1 11 Regression 10 0.8935 0.0894 5.7140 0.0001
Residual 28 0.4379 0.0156
Runs-Test Result: 0.4780 RESIDUALS RUNS RANDOM Total 38 13314
ClL 99% Selected Fitted Previous Selected
Coefficients S.E. t-Stat p-value Lower Upper Coeff. Annual Selected Annual
1 2
Intercept (82.243) 19.3778 (4.244) 0.0002 (135.788) (28.697) (82.243) 11 selected = fitted
Season - - - 1.0000 - - Bl 10
All Years 0.0421 0.0097 4.3441 0.0002 0.0153 0.0689 0.0421 9 past (2.8%) (3.10%) (2.8%) ‘12H2  =>last period In "past”
Scalar 1 141.4591 28.6022 4.9457 0.0000 62.4237 2204944 141.4591 8 future (2.8%) (3.10%) (2.8%)
Trend 1 {0.071) 0.0143 (4.954) 0.0000 (0.110) (0.031) {o.07y) 7
Scalar 2 . . - 1.0000 - . - 6
Trend 2 - - = 1.0000 - . =5
Scalar 3 . - - 1.0000 - . - 4
Trend 3 - - = 1.0000 = - o 3
Scalar 4 = = = 1.0000 = & 2
Trend 4 - E - 1.0000 - 1
Trends are Annual
Actual and Fitted Actual and Selected Model Frequency
14.0000 14,0000
12.0000 12.0000
10,0000 10.0000 =
£8.0000 8.0000
6.0000 = 6.0000
4.0000 4.0000
2,0000 2,0000 =
'93 '94 '96 '97 '99 00 ‘02 ‘03 '05 ‘06 ‘08 ‘09 ‘11 ‘12 ‘M4 ‘15 ‘17 '8l ‘94 's6 '97 '99 ‘00 '02 '03 ‘05 '06 ‘08 '09 ‘11 "1z ‘M4 '15 '17
H1 HZ HI H2 H1 H2 H1 H2 H1 HZ H1 H2 H1 HZ H1 H2 H1 H1i H2 H1 H2 H1I H2 H1 H2 H1' H2 H1 H2 H1I H2 H1 H2 H1
o From Valuation e—— Regress Fit From Valuation = Selected Model
Fitted Frequency Residuals Plot
5.0000
4.0000 P
3,0000
2,0000 +
1.0000 + *
s A ¥ ’. 22y s "’a.‘ e
d *
{1.000) et o L * *
(2.000) -
(3.000)
‘3 '!l 's6 ‘o7 '’ ‘o0 ',z ‘03 ‘05 06 08 ‘09 'l ‘12
HI H2 HI H2 HI HZ HL HZ HI HZ HI H2 HI H2
# Residual
Fitted Frequency qq-Plot =1
4.0000
3,0000 *
2,0000
1,0000 “’ *
(1.000) S
(2.000) *
{3.000)
(2.500) (2000) (1500) (1.000) {0500) - 05000 1.0000 15000 2.0000 2.5000
4 Standardized Residuals = Line
file: NL CV.Trand Analysis 01a TPL-BI.2012-12 w01b (underaking 07 a) xisx FA Actuarial
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Facility Association - Trend Analysis- Industry Level Options] __ Freq Sev I
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R 3 T
Bodily Injury excluded observations: 1 At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 39 At Unfavourable Levels 3 z AA AB
MODEL DESCRIPTION As per Undertaking 07a (sev) - only change from filing is that second period starts at 2003-H1, not 2004-H2
Severity in: § Severity in; $1s Level Selected: 1 AtSelected Ultimate Levels
— X
Trend Periods based on average accident date where scalar present Severity Values
pt:::u E':';::(:l';’ Season | AllYears | Scalarl  Trendl  Scalar2  Trend2 | Scalar3  Trend3  Scalard  Trendd v;:""'“ RegressFit  Residual 5:::"’
0 1 1 1 0 0 0 0 0
93H1 1 1993.25 - - - T e e e - 57,804 42,641 15,163 42,641
'93H2 T [ 1993.75 R A : ¥ p B B - | 64868 42,53 22332 42,536
'94H1 1 1994.25 - . . 3 > - = 30,189 42,432 (12,243) 42,432
'94H2 2 1994.75 2 i s 5 : . X 42,515 42,328 187 42,328
95H1 | 1 1995.25 - Ty . = = = - 5 29910 42,225  (12,315)] 42,225
'95H2 2 1995.75 - - - - « 3 - 8 38,276 42,121 @85) 421
'96H1 1 1996.25 - - - 0 . = - g 70,154 2,018 28136 | 42,018
VKT [ 2 193675 Ca = L . . T = 2 3 45159 41,915 3204 a1915
'97H1 1 1997.25 £ z - 2 g ] : s 39,711 41,813 @2102) 41,813
'97H2 2 1997.75 - - - : < s 34,561 41,710 (7.149)| 41,710
'98H1 1 199825 | - AR - s z T - 21,842 41608  (19,766)| 41,608
'98H2 2 1998.75 2 s = . % . - - 36,536 41,506 (4.970) 41,506
'99H1 1 1999.25 5 5 < £ < = 5 - | 40300  a140s (1,105)| 41,405
'99H2 2 1997 | - = 3 2 S = - | aspse 41,303 3,786 | 41,303
‘00H1 1 2000.25 > 5 - = S - . - 38,410 41,202 (2792)| 41,202
'00H2 3 2000.75 - - = o | = - E 38,674 4,100 a7y a0
01H1 1 | 200125 : 2 e sET < - £y - 130,353 41,001  (10,648) 41,001
01H2 2 200175 = £ H . < 5 3 = 75,498 40,900 34,598 40,300
'02H1 1 2002.25 2 g 2 - - - I 67,013 40,800 26,213 40,800
02H2 2 | 200275 - = L - - C - T - 31,279 40,700 (9.421)] 40,700
‘03H1 1 2003.25 z - ! 5 3 31,508 34,902 3394) 34,902
'03H2 2 2003.75 . 2 = s . 45,061 35,802 9,259 35,802
‘DaH1 1 | 200435 . =T A e, 45,126 36,726 8400 36,726 |
‘04H2 2 2004.75 3 & 5 3 33,516 37,673 (4157 37,673
‘05H1 1 2005.25 . % 2 s - 20,849 38,645 (8,796) 38,645
T i & 2005.75 S P 2 R 2 40,038 39,641 397 39,641
'06H1 1 2006.25 B . 3 5 - 38,723 40,664 (1,941)| 40,664
‘06H2 2 2006.75 | AN T = e - 41,898 41,713 185 41,713
07H1 9 2007.25 : z - = - 39,403 42,789 (3386) 42,789
'07H2 2 2007.75 - 5 - = g 58,241 43,892 14,349 43,892
'08H1 1 2008.25 . = : 5 : 46,080 1,056 45,024
‘0BH2 T2 2008.75 == 5 5 o S S| e s 46,186 2373 46,186 |
‘09H1 1 2009.25 e = - = - 38,754 47,377 (8623) 47,377
‘09H2 2 2009.75 . 3 s = - 46,228 71)| 48,599
10HL | 5 = 1 201025 1 2 = =, 47,305 47)| 49,852
'10H2 2 2010.75 - = = - 54,533 95 51,138
"11H1 1 2011.25 = = = S 45,297 52,457 (7,160) 52,457
11H2 Y—= =2 2011.75 = = - - 81,796 53,810 27,986 53,810
12H1 1 2012.25 = = = F 61,639 55,198 6,441 55,198
"12H2 2 2012.75 < = = - 61,200 56,621 4,579 56,621
131 1 201325 B = 2 - - 58,082 58,082
"13H2 2 2013.75 A x 2 2 s 59,580 59,580
"14H1 1 2014.25 - - < E 3 61,117 | eL117
14H2 2 | 2047 - e < - - 62,693 | s2693
"15H1 1 2015.25 - - - - - 64,310 64,310
"15H2 2 2015.75 g = E = - 65,969 65,969
"16H1 R 2016.25 Bl - = s oy 67,670 i 67,670
"16H2 2 2016.75 = 5 e = - 69,415 69,415
17H1 1 2017.25 . - = S 71,206 71,206
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sev07a

page 20of 2
Facility Association - Trend Analysis - Industry Level Options: Freq Sev Lc
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R S T
Bodily Injury excluded observations: 1 At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 39 At Unfavourable Levels 3 r4 AA AB
MODEL DESCRIPTION As per Undertaking 07a {sev) - only change from filing is that second period starts at 2003-H1, not 2004-H2
REGRESSION STATISTICS ANOVA
Adjusted S.E.of #of Obs. # of Obs. Significance
Itiple R R2 R2 i n Excluded k di S5 Ms F F
0.7231 0.5229 0.3525 0.2202 39 1 1 Regression 10 1.4880 0.1488 3.0691 0.0093
Residual 28 1.3575 0.0485
Runs-Test Result: 0.1813 RESIDUALS RUNS RANDOM Total 38 2.8455
cL. 99% Selected Fitted Previous  Selected
Coefficients S.E. t-Stat p-value Lower Upper Coeff. Annual Selected Annual
1 2
Intercept 20.4332 34.1198 0.5989 0.5541 (73.849) 114.7153 20.4332 11 selected = fitted
Season - - = 1.0000 - - = 10
All Years (0.005) 0.0171 (0.287) 0.7761 {0.052) 0.0423 {0.005) 9 past 5.2% 5.7% 5.2% "12H2  => last period in "past”
Scalar 1 (111.999) 49.5448 (2.2861) 0.0318 (248.904) 24,9061 {111.999) 8 future 5.2% 5.7% 5.2%
Trend 1 0.0558 0.0247 2.2574 0.0320 (0.013) 0.1242 0.0558 7
Scalar 2 - ] s 1.0000 - - = 6
Trend 2 = 5 o 1.0000 = = B 5
Scalar 3 ] . - 1.0000 = - = 4
Trend 3 = S = 1.0000 = — S 3
Scalar 4 - - - 1.0000 - - - 2
Trend 4 - - = 1.0000 - 1
Trends are Annual
Actual and Fitted Severity L Actual and Selected Model Severity
'93 's4 '96 '97 99 'O '02 '03 'CS '06 ‘0B 09 '11 ‘12 "4 15 17 '93 's4 ‘9 '97 '939 ‘00 ‘02 '03 05 ‘08 '09 '11 '12 '14 15 '17
Hl H2 HiI H2 H1 H2 HLI HZ H1 H2 H1 H2 H1 H2 H1 H2 H1 H1 HZ H1 H2 H1 H2 H1 H2 H1L HZ H1 H2 Hl H2 H1 H2 H1
= From Valuation Regress Fit ———From Valuation =——5elected Model
Fitted Severity Residuals Plot
40,000 .
30,000 * * .
20,000 "
10,000 s * -
e e o T L e i
* . * » *
(10000) | & & * - * B ¥
{20,000) -
{30,000)
'|3 's4 "% 'Sy ‘99 ‘0 ‘o2 ‘3 ‘05 ‘06 ‘o ‘e '‘m ‘.2
H1 H2 H1 H2 HI HZ H1I H2Z HI H2 HI H2 HI H2
@ Residual
Fitted Severity qq-Plot
3.0000
+
20000 ——
1.0000
{1.000) + 0
(2.000)
(3.000)
{2500) (2000) (1500) (1.000) (0500) -  0.5000 1.0000 1.5000 2.0000 2.5000
@ Standardized Residuals e Line
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sev07a(2)

pags 10f 2
Facility Association - Trend Analysis - Industry Level Options:| Freq Sev Lc
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R S T
Bodily Injury excluded observations: = At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 40 At Unfavourable Levels 3 4 AA AB
MODEL DESCRIPTION As per Undertaking 07a (sev) - only change from filing is that second period starts at 2003-H1, not 2004-H2, AND no data exclusions
Severity in: $ Severity in: $1s Level Selected: 1 At Selected Ultimate Levels
Xi
Trend Periods based on average accident date where scalar present Severity Values
:ﬂ";':s E":i":‘:,'?" Season | AllYears | Scalar1  Trend1  Scalar2  Trend2 | Scalar3  Trend3  Scalard  Trendd v;m‘m RegressFit  Residual ’::::;'
[ 1 1 1 0 0 0 [ 0
"93HL 1 1993.25 s - 5 = . = - 57,804 42,641 15,163 42,641
‘93H2 | 2 1993.75 2 Bt | P T Sh ; 64,868 42,536 22,332 42536
'94H1 1 1994.25 . . 5 - - - . 30,189 42,432 (12,243)) 42,432
'94H2 2 1994.75 = Y < < . T 42,515 42,328 187
" '95H1L 5 1 1995.25 EORC e * - B - =R 9,910 42,225  (12,315)
95H2 2 1995.75 : - 4 “ . . . 38,276 42,121 (3.845)) 42,121
'96H1 | 1 ] 19935 O e b —= = 2 = S 70,154 42,018 28,136 42,018
'96H2 L 2 19675 - . - - - —3 45,159 41,915 3,244 41,915
"97H1 1 1997.25 - . . . . . 39,711 41,813 2.102)) 41,813
'97H2 2 1997.75 - . . . . : . 34,561 41,710 (7.049) 41,710
'98H1 = 1 T1998.25 = z E S b e == == 21,842 41,608  (19,766) 41,608
'98H2 2 1998.75 : E 5 . = . - 36,536 41,506 (a,970)) 41,506
'99H1 1 - - = 40,300 41,405 (1, 41,405
2 = P z 45,089 41,303 3, 41,303
1 A A . 38,410 41,202 (2,702)] 41,202
2 3 . 38,674 41,101 42| 4,101
= r 3 30,353 41,001 {10,648) 41,001
2 E - - 75,498 40,900 34,598 40,900
1 - - - 67,013 40,800 26,213 40,800
z g 0 ][ - 1 - - 31,279 40,700 (.421)] 40,700
1 - - - 31,508 34,077 (2569) 34,077
2 - - - LT 35,121 9,940 35,121
1 IS - - 36,198  8,928| 36,198
2 = ” 37,307 (3.791)| 37,307
1 o - = 38,451 (8602) 38451
2 . ¥ F 39,629 409 39,629
1 - - - 40,844 (z121) 40,844
2 s a 3 42,095 (197)] 42,095
I : 5 - 43,385 3,982)] 43,385
2 a . 44,715 13,526 44,715
1 ¢ . | 45,086 6)| 46,088
3 = — 2 47,498 1,061 47,498 |
1 2009.25 - 3 - 48,954
2 2009.75 - - 50,454
1 2010.25 I = 52,001
2 2010.75 - - 53,594
1 2011.25 : 5 55,237 (9.940)| 55,237
2 2011.75 P < - 56,930 24,866 | 56,930
1 2012.25 3 $ ] 58,675 2,964 58,675
2 2012.75 7 . 60,473 727 60,473
1 2013.25 - - - 62,326 62,326
2 2013.75 . 4 . 64,236 64,236
1 2014.25 - . . 66,205 66,205
2 201475 . =R p . T 68234 68,234
1 2015.25 - - . 70,326 70,326
2 2015.75 100  2015.75 = s - 5 . 72,481 72,481
1 2016.25 100 201625 : S . 7 : 702 74,702 |
2 2016.75 100  2016.75 - - - = 76,992 76,992
‘17H1 1 2017.25 1.00  2017.25 < . £ 4 5 79,352 79,352
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ssv 07a(2)

pags 2 of 2
Facility Association - Trend Analysis - industry Level Options: Freq Sev Lc
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R s T
Bodily Injury excluded observations: - At Favourable Levels 2 v w X
asat: Dec 31, 2012 # observations used: 40 At Unfavourable Levels 3 2 AA AB
MODEL DESCRIPTION As per Undertaking 07a (sev) - only change from filing is that second period starts at 2003-H1, not 2004-H2, AND no data exclusions
REGRESSION STATISTICS ANOVA
Adjusted S.E.of # of Obs. #of Obs. Significance
Multiple R R2 R2 Estimate n Excluded k df S5 MS F F
0.7323 0.5363 0.3764 0.2281 40 - 1 Regression 10 1.7456 0.1746 3,3540 0.0052
Residual 29 1.5093 0.0520
Runs-Test Result: 0.3199 RESIDUALS RUNS RANDOM Total 39 3.2549
cl 99% Selected Fitted Previous  Selected
Coefficients S.E. t-Stat p-value Lower Upper Coeff. Annual Selected Annual
1 2
Intercept 20,4332 35.3510 0.5780 0.5677 (77.008) 117.8743 204332 11 selected = fitted
Season = - N 1.0000 = - = 10
All Years (0.005) 0.0177 (0.277) 0.7837 (0.054) 0.0439 (0.005) 9 past 6.2% 5.7% 6.2% ‘12H2  => last period in "past”
Scalar 1 (130.946) 50.1192 (2.613) 0.0141 (269.093) 7.2021 (130.946) 8 future 6.2% 5.7% 6.2%
Trend 1 0.0653 0.0250 2.6089 0.0142 (0.004) 0.1342 0.0653 7
Scalar 2 - - - 1.0000 - - - 8
Trend 2 s =l 3 1.0000 = s e 5
Scalar 3 - - - 1.0000 - - s 4
Trend 3 - = = 1.0000 . - “ 3
Scalar 4 - - + 1.0000 - - - 2
Trend 4 - - - 1.0000 1
Trends are Annual
Actual and Fitted Severity [ Actual and Selected Model Severity
'3 's4 ‘96 's?7 '3 ‘00 ‘o2 03 ‘o5 ‘o6 08 ‘09 ‘11 ‘12 "4 15 17 ‘93 's4 '96 '97 '99 '00 ‘02 '03 ‘05 '06 '0B ‘09 'l '12 '14 '15 17
Hl H2 H1 HZ Hl1 HZ HI H2Z H1L H2 H1 H2 HI H2 H1 H2 H1 H1 H2Z H1 HZ H1 H2 H1 H2 HI H2 HI H2 H1 H2 H1 H2 H1
s From Valuation —e—— Regress Fit e From Valuation ——Selected Model
Fitted Severity Plot
40,000 -
30,000 - * > =
20,000
. .
10,000 *e
L 3 +
B T T T . A e el
s ® ¥ ‘. -
(10,000} * @ * & - +*
(20,000) -
{30,000)
'$3 '!4 's6 97 "9 '00 ‘o2 '3 05 '06 ‘08 09 ' ‘12
HI Hz HI H2 Hl M2 HlL HZ HL HZ HL H2Z HI M2
‘ # Residual
Fitted Severity qq-Plot
3.0000
2,0000 ‘J
-
1.0000
(1.000)
{2.000)
{3.000)
[2.500) (2000) (1500) (1.000) foS0O) - 0.5000 1.0000 1.5000 2.0000 2.5000
# Standardized Residuals = Line
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freq 07a

page 10of 2
Facility Association - Trend Analysis - Industry Level Options; Freq Sev Lc
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R s T
PD-Tort excluded observations: 1 At Favourable Levels 2 v w X
as at: Dec 31,2012 # observations used: 39 At Unfavourable Levels 3 z AA AB
MODEL DESCRIPTION As per Undertaking 07a (freq) - only change from filing is that second period starts at 2003-H1, not 2004-H2
Frequency per: 1,000 Earned Car Years Level Selected: 1 At Selected Ultimate Levels
Trend Type: exponential
Trend Periods based on average accident date where scalar present Frequency Values
Pm E‘:'::‘:’;" Season | AllYears | Scalarl  Trend1  Scalarz  Trend2  Scalar3  Trend3  Scalard  Trend4 v;';'m RegressFit  Residual m‘:
1 1 1 ¥ 0 0 0 0 °o_I= * to include
1 1993.25 - - = - i - = 435599 36.9070 6.6529 |  36.9070
2 1993.75 - - - R - - - T 38.4966 32,9549 5.5417 | 32.9549
1 1994.25 - . - . - 34,7973 354569 (0.660)|  35.4569
2 1994.75 - - - - - 361738 31.6602 4.5136
1 199525 s - - - - 382084  34.0639  4,1445
2 1995.75 - . : - - 256341 30.4163 {4.782)
1 1996.25 s = = 7 . s 263706 327255 {6.355)
2, 100675 [ion s | - 1 N 1 Bl - s 25.2432 292212 (3.978)
1 1997.25 ! = 5 : . 5 333215 31.4398 1.8817
2 1997.75 e = . = 255703 280732 (2.503)
—1 | 198l = - g 5 - - 242013 302046 (6.003)
2 1998.75 - - - - - E 257462 26.9702 {1.224)
1 1999.25 - - - - - § - 267911 29.0179 (2.227)
2 1999.75 = B = - 8 . EN - BB 233453 259106  (2.565)
1 2000.25 . - . . - 276858  27.8778 {0.192)
2 2000.75 - - - - F : 275993 24.8926 2.7067
1 2001.25 == - R ] - - | T37.4263 26,7825  10.6438 |
2 2001.75 - - - - - 225169 23.9146 (1.398)
i 2002.25 - : E . 272172 257303 15469
2 2002.75 =l T & N 23.9392 229750  0.9642
1 2003.25 100  2003.25 . ; E . 30919 219156 9.0040
2 2003.75 100 2003.75 . . - - 202490  19.8052 0.4438
1 2004.25 T 100 200425 £ = . . N 195841  21.5663 (2.022)
2 2004.75 100  2004.75 . . - . 14.6492  19.489% {4.840)
1 2005.25 100 2005.25 - - - 18.0743  21.2226 (3.148)
2 2005.75 T 100 2005.75 - 4 = - = 181729  19.1789 (1.006)
1 2006.25 100 2006.25 - - - - 201378 20.8843 (0.747)
2 2006.75 100 200675 - - 184640  18.8733 (0.409)
1 2007.25 100 2007.25 2= PR - S 211168 205515 05653
2 2007.75 100 200775 5 E = - 19,0208 185725 0.4483
1 2008.25 100 200825 - ; s . 18,0750  20.2239 (2.149) ;
‘08H2 —==7 I 2008.75 100  2008.75 E - . T17.2415 182764 (1.035)|  18.27¢
"09H1 1 2009.25 100  2009.25 - . - . 17.1188  19.9016 (2.783)| 19.9016
‘09H2 2 2009.75 100 2009.75 . - - 19.6691  17.9852 16839 | 17.9852
oM | e 2010.25 100 201025 . N - . 17.7259  19.5844 (1.858), 19.5844
10H2 2 2010.75 100 201075 17.8634  17.6985 0.1649 | 17.6985
"11H1 1 2011.25 100 201125 - s - = B - 219796  19.2722 27074 | 192722
PTTRR = | 2 2011.75 100 201175 ~ FpwaE - == 191776  17.4164 17612 | 17.4164
"12H1 1 2012.25 100 201225 - - = - 183431 18,9651 (0622)) 18.9651
"12H2 2 2012.75 100 201275 - - - 185969 17,1388 1.4581 | 17.1388
"13H1 1 2013.25 100  2013.25 - - - 18.6628 18,6628
"13H2 2 2013.75 100 2013.75 2 - . 16.8657 16,8657
"14H1 1 2014.25 100 2014.25 x . : 18.3654 18,3654
"14H2 2 | 201475 100 201475 2 - = z 165969 16.5969 |
"15HL 1 2015.25 100  2015.25 - . % 5 18.0726 18.0726
"15H2 2 201575 100 201575 == - - E - 163323 16.3323
"16H1 i 201625 | 100 201625 - s - - 17.7846 17.7846 |
"16H2 2 2016.75 100 2016.75 - - - 16.0720 16.0720
'17HL 100 201725 - = N - - -]
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page 2of 2
Facility Association - Trend Analysis - Industry Level Options:| Freq Sev Lc
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R s T
PD-Tort excluded observations: 1 At Favourable Levels 2 v w X
as at: Dec 31, 2012 ¥ observations used: 39 At Unfavourable Levels 3 Z AA AB
MODEL DESCRIPTION As per Undertaking 07a {freq) - only change from filing is that second period starts at 2003-H1, not 2004-H2
—
REGRESSION STATISTICS ANOVA
Adjusted S.Eof #of Obs. # of Obs. Significance
itiple R R2 R2 i n Excluded k df 55 M5 F F
0.9198 0.8460 0.7909 0.1215 39 1 1 Regression 10 2.2707 0.2271 15.3762 0.0000
Residual 28 0.4135 0.0148
Runs-Test Result: 1.0966 RESIDUALS RUNS RANDOM Total 38 2.6842
cl 99% Selected Fitted Previous Selected
Coefficients S.E. t-Stat p-value Lower Upper Coeff, Annual Selected Annual
1 2
Intercept 83.5939 18.8641 4.4314 0.0001 31.4674  135.7204 835939 11 selected = fitted
Season (0.093) 0.0393 (2.375) 0.0246 (0.202) 0.0152 (0.083) 10
All Years (0.040) 0.0094 (4.244) 0.0002 (0.066) (0.014) (0.040) 9 past {1.6%) 0.30% {1.6%) 122 => last period in “past”
Scalar 1 (48.228) 27.1922 (1.774) 0.0870 (123.367) 26.9112 (48.228) 8 future (1.6%) 0.00% (1.6%)
Trend 1 0.0240 0.0136 1.7692 0.0878 (0.013) 0.0615 0.0240 7
Scalar 2 - - = 1.0000 = - —
Trend 2 - = o 1.0000 » - = ]
Scalar 3 B - - 1.0000 - - - 4
Trend 3 & o = 1.0000 3 s S 3
Scalar 4 - - 1.0000 - - - 2
Trend 4 - - 1.0000 - & a |
Trends are Annual
Actual and Fitted Frequency Actual and Selected Model Frequency
50.0000 50.0000
40,0000 1\ 200000 |\
30.0000 30.0000
20.0000 = 20,0000
10.0000 10.0000
'93 ‘94 '96 '97 '99 '00 '02 03 '05 06 08 '09 "1l 12 '14 15 17 '93 's4 '96 '97 '99 '00 '02 ‘03 ‘05 '06 ‘08 '09 ‘11 12 '14 '15 ‘17
H1 H2 H1 H2 H1 H2 H1 H2 H1 H2 H1 H2 H1I H2 H1 H2 H1 H1 HZ H1 H2 H1 H2 H1 H2 H1 H2 HL H2 H1 H2 H1I H2 H1
= From Valuation ———— Regress Fit —— From Valuation =——Selected Model
Fitted Freq y duals Plot
15,0000
*
10,0000 *
e
50000 |~y %
* *s -,
3 . »
o - *®
N . il . .Y **,
{5.000) .’ S *
{10.000)
'3 ‘4 ‘96 '97 ‘99 ‘00 ‘2 ‘03 ‘05 ‘08 ‘o8 ‘09 ‘I ‘1
H1  H2 H1 HZ HI HZ HL H2 HI H2 Hl HZ HL H2
# Residual
Fitted Frequency qq-Plot
3.,0000
+
2.0000 +
1.0000
{1.000)
(2.000)
(3.000)
(2500) (2000) (1.500) (1.000) (0S00) - 0.5000 1.0000 15000 2.0000 2.5000
# Standardized Residuals = Line
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page 10of2
Facility Association - Trend Analysis - Industry Level Options: Freq Sev LC
Newfoundiand & Labrador - non-Private Passenger actual observations: a0 At Selected Ultimate Levels 1 R 5 T
PD-Tort excluded observations: = At Favourable Levels 2 v w X
asat: Dec 31,2012 # observations used: 40 At Unfavourable Levels 3 z AA AB
MODEL DESCRIPTION As per Undertaking 07a (sev) - only change from filing is that second period starts at 2003-H1, not 2004-H2
Severity in: § Severity in: $1s Level Selected: 1 At Selected Ultimate Levels
X
Trend Periods based on average accident date where scalar present Severity Values
:"‘:; E‘f;::;;“ Season | AllYears | Scalrl  Trendl  Scalrz  Trend2 | Scaler3  Trend3  Scalard  Trendd v:"’mf‘m RegressFit  Residual ’:::::"
1 1 1 1 [ 0 0 0 0 0
1 150 1,938
= 2 103 2,182
1 102 2,065
= (368) 2,325
= 324) 2,200
2 294 2,477
S 1 5261 2344
B 2 100 2,639
1 2,263 2,497 (234) 2,497
2 2,770 2,811 1a1) 2,811
1 2,269 2,660 1391) 2,660
2 3272 2,995 277 2,995
8 2,181 2,834 (653) 2,834
2 3,479 3,191 288 3191
1 3,033 3,019 14 3,019
2 1 4,232 3,399 833 3,399
T 3,304 3,216 88 3,216
2 3,120 3,621 {501) 3,621
1 3,499 3,427 n 3,427
2 4,047 3,858 189 3,858
7 3,827 3,859 B2) 3,859
2 4,370 4,255 115 4,255
=73 1 3844 3942 (98) 3,942
2 4,640 4,347 293 4,347
1 3,803 4,027 (224) 4,027
2 4,607 4,440 167 4,440
1 4,146 4,114 32 4,114
2 3,663 4,536 (873) 4,536
el 1 4344 4,203 141 4,203
2 2007.75 100 2007.75 : . . ; . . 4,424 4,634 (210) 4,634
1 2008.25 100 7008.75 . - > - - 5,792 1,293 1,499 4,293
o E 3 200875 100 200875 - - s g : 4,073 4,734 (661) 4,734
1 2009.25 1.00 2009.25 - - - - - - 3,800 4,386 (586) 4,386
2 2009.75 100  2009.75 - - 3 - - 5,885 4,836 1,049 4,836
Tl 1 201025 100 201025 - - T z - 5272 4480 792 4480
2 2010.75 100 201075 - - - < i 4,166 4,940 (774) 4,940
1 201125 1.00 201125 - - - - - 4,935 4577 358 4,577
= 2 2011.75 100 — 0L . . - B . 5 Paany - 5,021 5,046 (25) 5,046
1 2012.25 100 201225 - . - - - . 4,480 4,676 (196) 4,676
2 2012.75 1.00  2012.75 . . - - - - 4,950 5,155 (205) 5,155
1 2013.25 1.00 201325 - - - - - - 4,776 4,776
2 2013.75 100 2013.75 . . . : - . 5,266 5,266
1 2014.25 100  2014.25 - - - - - - 4,879 4,879
2 201475| 100  2014.75 =¥ cesee . o AT . T 5380 5,380
1 2015.25 1.00 - - - - - > 4,984
2 2015.75 1.00 : * - 5 < 5,495
B 1 2016.25 1.00 = . < 5 z 5,092
2 2016.75 1.00 - . = = 5,614
1 2017.25 1.00 . . - 5,202
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page 20f2
Facility Association - Trend Analysis - Industry Level Options] _ Freq Sev LC
Newfoundland & Labrador - non-Private Passenger actual observations: 40 At Selected Ultimate Levels 1 R [3 T
PD-Tort excluded observations: = At Favourable Levels 2 v w X
as at: Dec 31, 2012 # observations used: 40 At Unfavourable Levels 3 Z AA AB
MODEL DESCRIPTION As per Undertaking 07a (sev) - only change from filing is that second period starts at 2003-H1, not 2004-H2
REGRESSION STATISTICS ANOVA
Adjusted S.E.of #of Obs. #of Obs. Significance
Multiple R R2 R2 Estimate n Excluded k df 55 Ms F F
0.9334 0.8712 0.8267 0.1309 40 - 11 Regression 10 3.3589 0.3359 19.6077 0.0000
Residual 29 0.4968 0.0171
Runs-Test Result: 1.2295 RESIDUALS RUNS RANDOM Total 39 3.8557
Cl. 99% Selected Fitted Previous Selected
Coefficients S.E. t-Stat p-value Lower Upper Coeff. Annual Selected Annual
1 2
Intercept (118.708) 20.3163 (5.843) 0.0000 (174.707) (62.708)  [118.708) 11 selected = fitted
Season 0.0869 0.0415 2.0927 0.0452 (0.028) 0.2015 0.0869 10
All Years 0.0633 0.0102 6.2250 0.0000 0.0353 0.0913 0.0633 9 past 2.2% 2.1% 2.2%  '12HZ = last period In "past”
Scalar 1 84,1691 28.7544 2.9272 0.0066 49108  163.4274 841891 8 future 2.2% 21% 2.2%
Trend 1 (0.042) 0.0144 (2.925) 0.0066 (0.082) (0.002) {0.042) 7
Scalar 2 - - - 1.0000 - - =6
Trend 2 - - = 1.0000 = - 5
Scalar 3 - - - 1.0000 - - 4
Trend3 - . = 1.0000 . 2] =43
Scalar 4 - - = 1.0000 - ] = 2
Trend 4 = - = 1.0000 - = 1
Trends are Annual
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